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1. SR
(1) EREREEL THEE - EWHER X A5 X B#=0.4%X0.4X3.3X4=2.11 (mn3)
(2) FERAERTER = FRK X BEXEEE - B 5RREL R HR
=[0.4X3.3X2+ 0.4X (3.3-0. 1) X2-0. 25X (0. 55-0. 1) X 2] X4
=19. 90 (m2)
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2. R (KL1. KL2. L1)
(1) FRRRELTER=-ZBEER X K X B
KL 1 BBt TREE =
0.25X (0.55-0.1) X (6.6-0.2X2) X2=1.40 (m3)

KL2 BT THREE =
0.25X (0.55-0.1) X (7.2-0.2X2) X2=1.53 (m3) .

L1 BB+ TEE =
0.256X (0.55-0.1) X (6.6+0.2X2-0.25X2) X2=1.46
MR RELTRHREE =
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2. B (KL1. KL2. L1)
(2) HEEEER TREE = (RERE+UEE) X BZEKE X B
KL1 kR TFEE = (0.25+0.55+0.45) X (6.6-0.4) X2=15.50(m2)

KL2 Btk THEE = (0.25+0.55+0.45) X (7.2-0.4) X2-0.25X0.45X4 (L1 5KL2 358
) =16. 55 (m2)
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3. R
(1) BEHREBRLTEERE = KK X &K% X &E - #5453
= (6.6+0.2X2) X (7.2+0.2X2) X0.1-0.4X0.4X4X0.1=5.26 (m3)
BRI BEERT TEE =4. 39+5. 26=9.65 (m3 )




3. BRI
(2) WER TEE =K X &K% - F 5 EH - 2 G EH
WRE X RE= (6.6+0.2X2) X (7.2+0.2X2) =53.20

$B%: KZ1: 0.4X0.4X4=0.64 (m2)
KL1: (6.6-0.4) X0.25X2=3.10 (m2)
KL2: (7.2-0.4) X0.25X2=3.40 (m2)
L1: C 6.6-0.1) X0.25X2=3.25 (m2)

WOEMR T & =53. 20-0. 64-3. 10-3. 40-3. 25=42.81 (m2)
B RBRER TREN $47. 00+42. 81=89. 81 (n2)
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